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[2y 2y v 291 showthat |0242; +A2V¥ 5 v 2,746

" f
Find all Zetos of the potynomial x* - 3= 5% + 225 . 3647 - 35y « 135 il its known

that 1 + 2 and /3 are two of s z0105 (OR)

x+1 R

X+ 7J 4

A bridge has a parabolic arch that is 10M height in the centre and 30m wide at the
bottom Find the height of the arch 6m ffom the centre, on either sides  (OR)

By vector method , prove that cos (a + ) = cosa cosf) - sina sin))

If the curves ax? + by? = 1 and cx? * = 1 intersect each other orthogonally if

1 1 3. .1
abecd oR)
Prove that f(x, y) = x” - 2x% + 3xy + yis homogeneous, what is the degree? Verify
Euler's Theorem for

A pot of boiling water at 100°c is removed from a stove at time t = 0 and left to cool in
the kitchen After 5 minutes, The water témperature has decreased 10 80°c, and another
5 minutes later it has dropped to 65°c. Determine the temperature of the kitchen. (OR)
The cumulative distribution function of 8 discrete random variable is given by

1

Salye AN y ¢ tan

0 for —x<ex<0
/2 for 0Qsx<l|
F(x) = Y5 for 1ex<2
4/5 for 2<x<3
910 for 3<sx<4
I for 4sx<m

Find (i) the probability mass function il) p(x < 3) and iii) p(x 2 2)

a+b
i) Define an operation » on Q as follows 3*b = (——2—] a, b eQ Examine the closure
commutative, associative properties satisfied by « on Q.

as+b
ii) Define an operation « on Q as follows 2 *b “[—Z—J a,b € Q Examine the existence

of Indentify and the existence of inverse for the operation « on Q. (OR)
Find the intervals of increasing, decreasing concavity and point of inflection of the
curve y = x> - 3x.
- -3 z-4 x-1 y-4
Show that the lines ¥ - 11— - and - !—i—
find the Cartesian equation of the plane containing these lines (OR)
Find the area of the region bounded between the parabolas y2 =xandx =y

——

Z -
- I are coplanar Also

Time: 1.00 hry
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FIRST REVISION TEST - 2025

Standard - XII regrs [T TTTT]

MATHEMATICS Muarky: 90
PART - A

Answer all the questions: 20=1=20

IfAis @ 3 = 3 non - singular matriz such that AAT = ATAGNd B » A AT then BB -

a) A b B o, ¢ e
D - 2 4
The rank of the matrix |2 4 8 8 s
) (-1 -2 -3 -4
of 1 b) 2 03 d)4

If zis a complex number suchthat z ¢« C\R gnd 2 + ; R then |z| s
a0 t}’ 1 €2 d) 3
i . P and 7 are the roots of x° + pr? + g+ ¢ = 0 then }_~1 S
a

- q - f
o b) —F ¢) [! dj :
The domain of the function which is defined by 1(x) = gin- 1/ _ 1 is
a(1.2] b)[-1.1] ¢ 0, 1] d)[-1. 0]
If dx(bxC)=(axb)xC,where i b ¢ are anythree vectors suchthat b ¢ » 0 8nd A b » 0

then 3 and ¢ are

a) perpendicular by riarallel C) inclined at angle /3 d) incined at an angle =5
hm(ootx - JJ Is

-0 X

eyl b) 1 c)2 d) =

) o
Ifulx, y) = gx’+y” then = [sequalto
f{

bj 2xu ¢) ¥’y d) y'u
The approximate change in the volume v of a cube of side x metres caused by increasing
the side by 1% is

a)03xdxm?’

a) e!7 . yJ

c)003x*m? B003 e’ m
dy 1

The solution of the differential equation g, * 71"":’;' O

ay+sin'x=c b)x+sinly=0 c)y+2snx=c d)x?+28n'y=0

A random variable x has binomial distribution with n = 25 and p = 0 8 then standard
deviation is

a)b b) 4 c)3 dy 2

b)003:rm3
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